BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

1000 10*

100

rm233 2/(408105 —5122)=1.052
T | L T L T T L
: BIC 490044 47 ABIC 18.844 AIogP —4.0919
I : X% 423871.91 Ax? 18.844 AlogP —4.0919
e o = 5
I \_t:_e__________ﬁmc
LTI T %
I ABIC —299864 ]
i N —299864 |
5122 5122
A ACq
L L 1 L L L 1 L L 1 L L L L 1 L L L L 1 L L L L 1
10 20 30 40 50 60
60 iterations
rm233 2/(408105 —5122)=1.052

L T T L
BIC 490044 47 ABIC 18.844 AIogP —4.0919
X* 423871.91 A 18.844 AlogP —4.0919 ]

Fe2 189% 100+332 km/s

rm233 BLR 2700 NLR 900 km/s

L T | e I

u 1 BLR
NLR
Fell

60 iterations

kdh1 11-0ct-2021 12:12



